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2 AMAL
1X5 logical v
>> 1+3
O 0 1 0 O
ans =
>> X>=y
4
ans =
>> 13-4
1X5 logical <&
ans =
0O O 1 1 1
9
>> x>y
>> 12%3
ans =
ans =
1X5 logical <&
36
O 0 o0 1 1
>> 36/3
=
ans = for &
>> for x=0:2:10
12 a=2"x
end
WY ALAL
a =
>>x=[12345];y=154321];
>> X<y !
ans =
a =
1X5 logical v
4
1 1 0 0 O
>> x<=y a -
ans = 16
1X5 logical v
a =
1 1 1 0 O
64
>> X::y
ans =
a =
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256

1024

if else@

>> a=3;
>> if a<l
b=a+1
else
c=a+2

end

>> a=1;
>> while a<4
a=a+l

end

MO|EE
>> a=1; b=2, c=3;
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2 inline$ o8-89 2HASA F+§ gAY
= I-

>> { = inline('x*3+6*x-2",'x");
>> f(3)

ans =
43

>> f=inline('x.*3+6*x-2",'x");
>> f([3 4 5])

ans =

43 86 153

linspace

>> x=linspace(0,5,6)
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»» t=linspace (0,2%pi,100); x=2%co,

>> plot(x,¥y)

Plot

s(t); y=2%sin(t);
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>> t=linspace(0,2%pi,100); x=2%cos(t); y=2*sin(t); Lo £
PLOL (%, ¥) /
> t=linspace (0, tcoste): y=24sinte): 4o f A
>> plot (x,¥) / \
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1inspace (0,24p1,100) ; x=2%cos (€] ; y=2*sin(t):

plot(x,y); axis
FESS

=quat

@ Figure 1

mem BIE =V 40

Ded= (2|08 | »

Ones

>> ones(3)

ans =

>> zeros(2)

ans =

length

>> C=[1 2 3]; length(C)

ans =

Sum
>> A=[123;456;7809];

sum(A)
ans =
12

15 18

Abs

>> abs(-3)

ans =
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fprintf + load

>> fp=fopen('test.m','w");
fprintf(fp, '%d %d\n', 1, 2);
fprintf(fp, '%f %f\n', 3.5, 4.5)
fprintf(fp, '%e %e\n', 100, 1000);
fclose(fp):

>> a=load('test.m")

1.0e+03 =

0.0010 0.0020 0.0045 1.0000

Rand()

>> random_matrix = rand(2,3)
random_matrix =

0.9572 0.8003 0.4218
0.4854 0.1419 0.9157

>> rand('seed’, 3)
>> rand(2,3)

ans =

0.5387 0.0512 0.3010
0.3815 0.2851 0.1277




